# Kingsway Christian College WA



# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 6th December 2024 Using "9JQ9" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

## PREPACKAGED DELIVERY SERVICE

#### HOME DELIVERY

Your order will be delivered by the 28th January 2025 for FREE, if placed on or before the return date of Friday 6th December 2024.

Orders placed after the return date will incur a late fee of up to \$17.50. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



**√** Item

Item

Unit

Total

Qty

Description Reqd Price \$ Amount \$ Office Use No. Read YEAR TWELVE Digital texts: Students can access their digital texts by logging into their MyConnect2 account after purchase. We strongly recommend using your school email address to log in before the school year begins. Further information on MyConnect2 and how to login to the students account can be found at: https://campion.com.au/ find-my-school/ Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you change your mind. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects. All students are required to bring their own laptop/tablet to school. Please refer to : www.kingsway.wa.edu.au/informationfor-new-families/book-lists/ Brochure for Parents 2025, for specifications. **STATIONERY** All students should supply their own general stationery items which should be clearly labelled. P52086 USB Pocket Flash Drive 32GB - NO RETURNS 14.05 14.05 1 **ACCOUNTING & FINANCE ATAR** P19828 WA ATAR Accounting 3 (2E) [Doyle] 2 95.00 95.00 P09366 3 103.95 WA ATAR Accounting 4 (2E) [Doyle] 103.95 1 P50026 2 Account Book A4 24 Lf A24 D/Ledger Red/Green Cover 4 5.95 11.90 P55004 5 Account Book A60 Treble Cash 2 29.00 14.50 **BIOLOGY ATAR** ReviseOnline - A \$39.27 subscription fee will be charged to your annual statement in April once subject selections have been finalised. Staff will distribute access details when the course commences. P19689 Biology WA ATAR 3&4 (Print & Digital) [Skirving et al] 102.95 102.95 Biozone Year 12 Biology Student Workbook [Allan] P06578 9 1 43.95 43.95 (ISBN 9781927173978) P52000 Calculator Casio Scientific FX-82AU Plus II 2E 10 41.95 41.95 **CERT III HOSPITALITY** No VET Fee as it is the same Cert II in Year 11. Requirements as per discussion at Cert II Information meeting. **CERT III IN CHRISTIAN LEADERSHIP** A fee of \$675 for External Qualification fee will be charged to your annual statement in April once subject selections have been finalised **CERTIFICATE IV IN BUSINESS** A fee of \$675 for External Qualification fee will be charged to your annual statement in April once subject selections have been finalised **CHEMISTRY ATAR** ReviseOnline - A \$39.27 subscription fee will be charged to your annual statement in April once subject selections have been finalised. Staff will distribute access details when the course commences. P30300 WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David 59.00 59.00 Proctor] P52000 41.95 Calculator Casio Scientific FX-82AU Plus II 2E 41.95 13  $\Box$ 1 CHILDREN, FAMILLY & THE COMMUNITY ATAR No stationery required CHILDREN, FAMILY & THE COMMUNITY GENERAL

Page 2

No stationery required

**CHRISTIAN STUDIES** 

A \$40.00 subject levy will be included on your College Fee Statements.

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	COMPUTER SCIENCE ATAR					
	No stationery required					
	DANCE ATAR					
	Dance Uniform:					
	<ul> <li>Girls - To be supplied from home, long black leggings. A leotard is required for To be purchased from the Uniform Shop; the KCC black dance t-shirt.</li> <li>Boys - To be supplied from home black track pants. Own contemporary footwer To be purchased from the Uniform Shop; the KCC black dance t-shirt.</li> </ul>					
P04505	Dance for Senior Students 2E [Snook]	15		1	65.95	65.95
D00040	Retain from previous year					
P06048	WA ATAR Dance: A Resource for Yr 12 [S Chapman, M Jasper, R Sutherland]	16	Ш	1	54.95	54.95
	(ISBN 9781925207118)					
	DANCE GENERAL					
	Dance Uniform: Girls - To be supplied from home, long black leggings. A leotard is required for To be purchased from the Uniform Shop; the KCC black dance t-shirt.  Boys - To be supplied from home black track pants. Own contemporary footwer To be purchased from the Uniform Shop; the KCC black dance t-shirt.					
P04505	Dance for Senior Students 2E [Snook]	18		1	65.95	65.95
	Retain from previous year					
P06047	WA Dance: Yr 12 General [S Chapman, M Jasper, R Sutherland]	19		1	54.95	54.95
	(ISBN 9781925207101)					
	DRAMA ATAR					
P06049	WA Drama: A Resource for Yr 12 ATAR [N Stinton] (ISBN 9781925207125)	20		1	70.95	70.95
P04199	WA Drama Key Terms & Concepts 3E [Robin Pascoe, Hannah Pascoe]	21		1	38.50	38.50
	Retain from previous year (ISBN 9780646913094)					
P55095	Binder A4 Half Lever Arch 50mm PE Black	22		1	10.05	10.05
	Retain from previous year		_			
P55710	Dividers Index A4 5 Tab PVC Multi Coloured	23		1	2.20	2.20
	Retain from previous year					
P56328	Pocket Plastic A4 11 Hole Pkt 10	24		3	1.30	3.90
	Retain from previous year					
D05440	ECONOMICS ATAR					
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp]	27	Ш	1	90.00	90.00
P34031	Due approx. December 2024 WA Economics Yr12 ATAR Study Guide 3E [Andrew Tibbitt]	28		1	59.00	59.00
F 3403 I	WA Economics 1112 ATAK Study Guide SE [Andrew Tibbitt]	20	Ш	ı	59.00	59.00
	ENGINEERING STUDIES ATAR					
	Resources provided by the College					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	29		1	41.95	41.95
	(This is the same Calculator that is used for Mathematics)					
	ENGINEERING STUDIES GENERAL					
	Resources provided by the College					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	30		1	41.95	41.95
	(This is the same Calculator that is used for Mathematics)					

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ENGLISH ATAR					
P15103	Dry, The [Jane Harper]	31		1	22.99	22.99
1 10100	(ISBN 9781925481372)	31		1	22.99	22.99
P35527	Good Answers ATAR English 2025 (Term 2) [ETAWA]	32		1	31.50	31.50
	If ordered online, will be delivered in bulk to the school.		_			
	Due approx. May 2025					
P55152	Binder Book A4 96 Page 8mm	33		4	1.65	6.60
	ENGLISH GENERAL					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	34		1	2.30	2.30
P55448	Display Book A4 20 Pocket Purple Refillable	35		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	36		2	1.65	3.30
	ENGLISH AS AN ADDITIONAL LANGUAGE DIALECT ATAR					
P55442	Display Book A4 20 Pocket Black Refillable	37		4	2.15	8.60
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	38		2	1.65	3.30
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	39		2	14.05	28.10
	FRENCH AS A SECOND LANGUAGE ATAR					
	<b>EDUCATION PERFECT –</b> A \$35 subscription fee will be charged to your a been finalised. Staff will distribute access details when the course commer		ement in Apr	il once subjed	ct selection	ns have
P16664	Collins French Dictionary and Grammar 8E [Collins Dictionaries]	42		1	32.99	32.99
	Retain from previous year (ISBN 9780008241384)					
P17049	Schaum's Outline of French Grammar 7E [Crocker]	43		1	37.95	37.95
	Retain from previous year (ISBN 9781260120950)		_			
P35370	Quoi de Neuf? Senior (SB Print & Digital) 2E	44		1	72.95	72.95
	New Edition for 2025		_			
P52061	Binder A4 2D 25mm Zipper Blue with Tech Case Marbig	45		1	12.45	12.45
P55152	Binder Book A4 96 Page 8mm	46		1	1.65	1.65
	GEOGRAPHY GENERAL					
P30106	WA ATAR Geography Units 1&2 2E [A. Griffin, T. Smith]	47		1	76.90	76.90
	(ISBN 9780994546081)					
	HUMAN BIOLOGY ATAR					
	<b>ReviseOnline</b> - A \$39.27 subscription fee will be charged to your annual s finalised. Staff will distribute access details when the course commences.	tatement in	April once s	subject select	ions have	been
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	51		1	91.95	91.95
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	52		1	59.00	59.00
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	53		1	41.95	41.95
	HUMAN BIOLOGY OFNERAL					

## **HUMAN BIOLOGY GENERAL**

A \$40 Resource Booklet fee will be charged to your annual statement in April once subject selections have been finalised.

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$		
	LITERATURE ATAR							
P00969	Frankenstein (Penguin Classics) [Mary Shelley]	54		1	17.99	17.99		
	(ISBN 9780141439471)							
P35528	Good Answers ATAR Literature 2025 (Term 2) [ETAWA]	55		1	31.50	31.50		
	If ordered online, will be delivered in bulk to the school. Due approx. May 2025							
P10135	Selected Poems of T. S. Eliot [T. S. Eliot] (ISBN 9780571057061)	56		1	24.99	24.99		
P03980	Sorry [Gail Jones]	57		1	22.99	22.99		
	(ISBN 9781741666632)							
P09468	Tempest (New Cambridge Shakespeare) 2E [(Ed. David Lindley)] (ISBN 9781107619579)	58		1	19.95	19.95		
P55152	Binder Book A4 96 Page 8mm	59		4	1.65	6.60		
	MATERIALS DESIGN & TECHNOLOGY (WOOD) GENERAL							
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	60		1	2.30	2.30		
P55522	Eraser Plastic Pencil Economy in sleeve	61		1	0.70	0.70		
P50271	Pencil (HB) Goldfaber	62		2	0.65	1.30		
	MATHEMATICS APPLICATIONS ATAR							
	<b>MATHSPACE</b> – A \$30 fee will be included on your College Fee Statement. Statements.	aff will	distribute acc	ess details	when the c	ourse		
	You are required to purchase a Casio Classpad Calculator (before the 22r by using the PDF on the College Website -https://www.kingsway.wa.edu.a				dditional c	harges)		
P32048	Cambridge WA Senior Maths Applications Yr12 (Print&Digital) [Jennifer Prosse et al]	r 66		1	86.95	86.95		
P03539	WA Math Applic. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	67		1	59.00	59.00		
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	68		4	1.65	6.60		
	MATHEMATICS ESSENTIAL GENERAL							
	<b>MATHSPACE</b> – A \$30 fee will be included on your College Fee Statement. Statements.	aff will	distribute acc	ess details	when the c	ourse		
P32046	Cambridge WA Senior Maths Essential Yr12 (Print & Digital) [Bruce Leggett et al]	71		1	86.95	86.95		
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	72		1	41.95	41.95		
P55442	Display Book A4 20 Pocket Black Refillable	73		1	2.15	2.15		
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	74		2	1.65	3.30		
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	75		1	2.90	2.90		
	MATHEMATICS METHODS ATAR							
	<b>MATHSPACE</b> – A \$30 fee will be included on your College Fee Statement. Statements.	aff will	distribute acc	ess details	when the c	ourse		
	You are required to purchase a Casio Classpad Calculator (before the 22r by using the PDF on the College Website -https://www.kingsway.wa.edu.a				dditional c	harges)		
P32050	Cambridge WA Senior Maths Methods Yr12 (Print&Digital) [Mark White et al]	79		1	86.95	86.95		
P19016	WA Math Methods Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	80		1	59.00	59.00		
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	81		4	1.65	6.60		
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	82		1	2.90	2.90		
	MATHEMATICS SPECIALIST ATAR  MATHSPACE – A \$30 fee will be included on your College Fee Statement. Staff will distribute access details when the course commences.							
	You are required to purchase a Casio Classpad Calculator (before the 22r by using the PDF on the College Website -https://www.kingsway.wa.edu.a				dditional c	harges)		
P32052	Cambridge WA Senior Maths Specialist Yr12 (Print&Digital) [Mark White et al]	86	Ď	1	86.95	86.95		
P11744	WA Math Special. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	87		1	59.00	59.00		
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	88		4	1.65	6.60		

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MEDIA DDODUCTION & ANALYCIC CENEDAL					
P55963	MEDIA PRODUCTION & ANALYSIS GENERAL  Notebook 147x87mm 96 pages Side Opening Spirax #561	89		1	1.70	1.70
1 00000	Notebook 147x8711111 90 pages Side Opening Spirax #301	09	Ш	ı	1.70	1.70
	MODERN HISTORY ATAR					
P15993	Cold War, The 1945-1991 NSW Stg 6 NMH (Print&Digital) [Brad Kelly]	92		1	45.95	45.95
P14460	Russia Under Tsarism & Communism 1881-1953 (2E) [Fiehn & Corin]	93		1	90.95	90.95
	(ISBN 9781444124231)					
	MUSIC GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	94		1	2.15	2.15
	Retain from previous year					
P55522	Eraser Plastic Pencil Economy in sleeve	95		1	0.70	0.70
	Retain from previous year					
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	96		1	2.20	2.20
	Retain from previous year					
P52001	Pencil (2B) Goldfaber	97		1	0.65	0.65
	Retain from previous year					

#### PHYSICAL EDUCATION STUDIES ATAR

**ReviseOnline** - A \$39.27 subscription fee will be charged to your annual statement in April once subject selections have been finalised. Staff will distribute access details when the course commences.

#### PHYSICAL EDUCATION STUDIES GENERAL

**ReviseOnline** - A \$27.83 subscription fee will be charged to your annual statement in April once subject selections have been finalised. Staff will distribute access details when the course commences.

### **PHYSICS ATAR**

**ReviseOnline** - A \$39.27 subscription fee will be charged to your annual statement in April once subject selections have been finalised. Staff will distribute access details when the course commences.

	Pearson WA Physics 12		<u>Choose One</u>			
P00528	Pearson WA Physics 12 (SB Print & Digital)	102		1	98.65	98.65
EA00709	Pearson WA Physics 12 (Digital 2Yr API)	103	DIGITAL ITEM	1	58.74	58.74
P06275 P52000	WA ATAR Exploring Physics Year 12 (Spiral) [STAWA] Calculator Casio Scientific FX-82AU Plus II 2E	104 105		1	45.50 41.95	45.50 41.95
P18523	POLITICS & LAW ATAR WACE Politics & Law 3&4 Power/Acc/Rights 2E [PLEAWA]	107		1	93.95	93.95

#### SPECIALIST SPORT BASKETBALL

A \$530 Subject Levy will be charged to your annual statement in April once subject selections have been finalised.

Access to a USB thumb drive (do not need a separate USB)

Personal basketball (male = size 7, female = size 6)

NB - good quality basketballs will be made available for sale at a more competitive price than retail once the year begins. If students do not already own their own basketball, they may wish to wait and purchase one through Coaching Hoops once the school year starts.)

Reversible red/white training singlet available from our Uniform Shop

#### **UNI READY**

A fee of \$325 for External Qualification fee will be included on your College Fee Statement

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS ATAR					
P32812	WA Visual Arts: A Resource for Yr 12 ATAR [Beth Harcourt]	108		1	84.95	84.95
	(ISBN 9781925207224)					
P51873	Brush Set Flat pkt 5	109		1	14.95	14.95
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	110		1	13.70	13.70
P56112	Marker Artline #220 Black 0.2mm	111		2	3.80	7.60
P52001	Pencil (2B) Goldfaber	112		2	0.65	1.30
P52013	Pencil (4B) Goldfaber	113		1	0.65	0.65
P52014	Pencil (6B) Goldfaber	114		1	0.65	0.65
	VISUAL ARTS GENERAL					
P07091	WA Visual Arts: A Resource for Yr 12 General [Beth Harcourt]	115		1	84.95	84.95
	(ISBN 9781925207200)					
P55111	Binder A4 2D Ring 25mm PE Blue	116		1	5.45	5.45
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	117		1	13.70	13.70
P55517	Eraser Plastic Pencil Large Vinyl - Faber	118		1	0.90	0.90
P52001	Pencil (2B) Goldfaber	119		2	0.65	1.30
P52013	Pencil (4B) Goldfaber	120		1	0.65	0.65
P52014	Pencil (6B) Goldfaber	121		1	0.65	0.65
P50271	Pencil (HB) Goldfaber	122		1	0.65	0.65
			_			

Number of Boxes ticked:	
Postage (Home delivery only)	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 16/10/24)	\$